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2. Figl 1 M
1 hy=_1 (m) u=_ 196 (KN/m? 2 cm
h=_11 (m) u=_6.86 (KN/m?) 2 i
he=_13 (m Us=_ 12.7 (KN/m?
¥ (m) ¥ ( ) lk1=0.200cm/sec
2 5x 6 30
1 rk2=0.100cm/sec
3. k=0.5 CEC=80meq/100g CaCl,
0.05mol/I NaCl 0.03mol/l i
75 (meqg/100g) Gapon N
5x 2 10
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CeHsOH -OH 38 24
CH3COCH3 =CO
C6H5N02 ‘NOZ
CsHsNH, NH,
5.
a-NaCN +b-Cl, +c-NaOH — d- N, +e-Na,CO, + f - NaCl + g-H,0O 3x 5+1 16
a=2 b=5 c= 12 d=_1 e= 2 f=_ 10 g= 6
6. 1c 5730 1c 3.50g 4.5x10’ (B)
Yc “c *’c=_555x 10" Ca
4008 C 1201 O 16.00 6.02x10%(/mol) 5
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